0000 0000 600
06.100000000000000

1. p.263 0 4

2. p.264 0 6

3.p26507 P={ab},Q=1{cde flO00000
)PxPxPO0O0OO0OOOOOOOO
2PxPxQO0000000000

4. p.266, A6.6 0 10000000OOOOO
1)2>1001>02)2>1002<1 3)2=2002>1

062 0000000000000OO

1. p2670 2 00000000000
1)2>10002<1 2)2>30001>2 3)2>10002=1
42>1000000010000 5)1+1=20001+2=3
03 pv-p000000000 p00000000000pv—p00000000000000
04 00000000000000000000000000000
H2>1 2)2>1 3)2=1+1 4)20000000005)2000000

2.p26800 DOO0OOOO0ODOODODOO

1) J0000ooOoooooo,00o0oo0

2) 000000000000,20000 22+1=000000000
3)2>1000 2> 10
)

4)2>1000 2>10

3.p20900 00000000D00000O0O0D00O00O0
1)2x2=4 2)1+0=1 3)1x0=1 4)00000000 500000000

4. p270 000000000000 000000 p,¢00001)~(pAg)< (-p)V(-g) 00000
00000000000000000

00 [p-2630 4]0 [p2640 6] 000000
p2650 7]1) Px Px POO0O0OOOOOOOOOOOOO

(a,a,a),(a,a,b),(a,b,a),(a,b,b),(b,a,a),(b,a,b),(b,b,a),(b,b,b)

000000000000000000

2) PxPxQO0000000000000000002x2x4=16.
[p.266 A6.6 O 1]

1)2>1001>0[0] 2)2>1002<1[0] 3)2=200 2>1[0]



[p26700] 1)O 2)0 3)0 40 50
[p2670 3] 000000000

-p | pV(-p)
O X (@]
X O (@]

[p2670 4 00000000000000000
1)2<1[0] 2)2<1[0] 3)2>1+1000 2<1+1][0]
420000000,000200000000000[0]
5)2000000 [0]

P2680 5 1)0 2)0 3)0 4)0

00 000000000 00000O0000000000000000O00000000000000
0000000000(MO000000000000000000MO00000000000000000
0000000000000000000000000000000

0000 Opeq¢0l0 p0 00 0 000000D0000000C0O0000000000000000
000000O000000pO0O0000 Ope¢d 00000000 p0 ¢0000000p<¢0O00
ooooo

[p2690 2] 1)2),5)0000000000000,3)4 0000000000
00 01),20000000000000000000000000000000000000000
0oooo

[p.270, O 2]
q | ~(pNq) | (=p)V(=q)
O (@] X X
O X (] O
X (@] O O
X X (@] O

~(pAg) O (-p)V(~g) 00DDDDDD0D0D0D0000D000000000



